64b-1c-eth-12xcbase-testpn 28.5 9.9 34.9 4.3 +22.5 .3
imix-2c-eth-12xcbase-testg 14.3 * 1.9 14.7 £ 2.2 +2.4 = 20.8
1518b-1c-eth-12xcbase-test 3.9 £ 0.0 3.9 £ 0.0 +0.6 £ 0.5
1518b-2c-ethip4-ipdbase-12 3.9 £ 0.0 3.9 £ 0.0 +0.6 £ 0.6
64b-4c-eth-12xcbase-testpn 10.0 + 0.2 10.0 + 0.3 +0.5 £ 3.6
1518b-2c-eth-12xcbase-test 3.9 £ 0.0 3.9 £ 0.0 +0.4 £ 0.4
9000b-1c-eth-12xcbase-test 0.7 = 0.0 0.7 £ 0.0 +0.4 £ 0.4
1518b-1c-ethip4-ipdbase-12 3.9 £ 0.0 3.9 £ 0.0 +0.2 £ 0.6
imix-lc-eth-12xcbase-testg 16.4 + 0.0 16.4 + 0.0 +0.1 £ 0.2
9000b-1c-ethipd-ipdbase-12 0.7 £ 0.0 0.7 £ 0.0 +0.1 £ 0.4
imix-lc-ethip4-ipdbase-13f 16.4 + 0.0 16.4 + 0.0 +0.0 £ 0.0
imix-2c-ethip4-ipdbase-13f 16.4 + 0.0 16.4 + 0.0 +0.0 £ 0.0


https://plot.ly/

